Multiplication de Deux Trinomes (C)

Simplifiez chaque expression.

1 (8¢° — 4q — 2)(T¢° + 8¢* — 2q)

2. (—2¢° — 69 + 8)(99° + 29 — 2)

5. (4¢ +7¢° = 2¢°)(—q¢* + 9¢° — 3¢°)

| (=45 +7s* — 5)(—65° + 7s* — 657)

- (2¢° + 9¢% + q)(—64¢" + 3¢° — 8¢°)

Ot

6. (2y4 — 2y3 — 7y2)(—6y4 — 893 - 392)

- J

(—t? — 8t 4 1)(—2t* — 73 — 3t%)

8 (2 — 8x* + 82%)(—62° + 2t + 52%)

~

0. (4v* + 20° + 80*)(Tv? — v + 8)

10, (3p° = p* + 8p)(—8p° + 8p" — p?)
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Multiplication de Deux Trinomes (C) Réponses

Simplifiez chaque expression.

- (8¢> — 4q — 2)(7¢* + 8¢° — 2¢)
— 56¢° + 36¢" — 62¢° — 8¢* + 4q

—_

[\]

- (—2¢% — 69+ 8)(99° + 29 — 2)

é

— —18¢* — 58¢” + 64¢° + 289 — 16

w0

(4¢" 4+ 7¢° = 2¢*)(—¢" + 9¢° - 3¢°)
= —4¢® + 29¢" + 53¢% — 39¢° + 6¢*

1 (—48% +7s* — 8)(—65" + 7s* — 657)
= 245% — 705" 4+ 795 — 495" + 6s*

(267 +9¢° + q)(—64" + 3¢° — 8¢%)
= —12¢" — 48¢° + 5¢° — 69¢* — 8¢*

Ut

i (2y' = 2y° = Ty?)(~6y" — 8y’ — 3y?)
= —12¢% — 4y" + 52¢° + 62¢° + 21y*

fan)
o

J

(=t =8t + 1) (—=2t* — 73 — 3t?)
— 210 4+ 2317 + 57t + 1742 — 342

8 (a° — 8xt + 82%)(—62° + 2t + 5a3) .
= —62'0 + 4927 — 5128 — 3227 + 402"

(4o +_27J3 + 80 (Tv?* — v +8)
= 28v° + 100° + 86v* + 8v> + 6402

Ne}

10. (3p* — p* + 8p)(—8p° + 8p* — p°)
= —24p° + 32p" — 75p°® + 65p° — 8p?
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